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Q.1
(A) Define probability distribution of discrete random variable with illustration. (07)
Also define raw moments and central moments.
(B) The first three moments about the value 2 of the variables are 1, 16 and -40. (08)
Prove that the mean = 3, the variance = 15 and p; = -86. Also calculate B, and y,.
OR
Q.1
(A) Explain the concept of co-efficient of skewness and kurtosis. State the relationship ~ (06)
between first four raw and central moments. _
(B) From the following data, calculate the first four moments about the mean. (09)
X 1121314156789
S 11 ]6]12125(30(20|9(5(2
Q2
(A) Explain Maxi-min criterion and Maxi-max criterion. {06)
(B) From the following pay-off matrix, decide which act can be chosen as the best (09)
act, using '
(1) Maxi-min principle (11) Maxi-max principle (iii) EMV criterion,
it:::ef Probabilities . i‘?s A
E, 0.3 -120 | -80 160
E, 0.5 200 | 400 ! -300
E; 0.2 260 | -260 ; 600
OR
Q2
(A) Explain (i) EMV (2) EOL (3) EPPI (06)
(B) Obtain EVPI for the following pay-off table (09)
-Events A fzts A, Probabilities
E, |40 [-10|-100 0.20
E, 400 1 440 + 400 0.70
- E, 65017201 760 0.10
Q.3
(A) Define the following terms; (06)

(1) Null Hypothesis  (ii) Alternative Hypothesis
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Ten persons are selected at random {rom a population and their heights in
inches are found as 63, 63, 66, 67, 68, 69, 70, 70, 71, 71. Using these
data, test the hypothesis that the mean height of the population is 66".
(The table value of t at 9 d.f. and 5% level of significance = 2.26)

OR

Explain t-distribution with properties.
From the given data, test the hypothesis that population means are equal.

X) [25(32(30132;24(14(32} - | - | -

Xo | 24[34|22:30142]31[40i30]|32]35

(”l:he table value of t at 15 d.f. and at 5% level of significance = 2.131)

Define x -statistics, with formula and limitations.
A die is thrown for 300 times and the following distribution is obtained.
Test the hypothesis that die is unbiased or not ?

-(The table value of y* at 5 d.f. and 5% level of significance = 11.07)

No.ondie| 1 213141516

Frequency | 56 1 57153 149 144 | 41

OR

Explain the analysis of variance for one way classification.

The following yields were obtained by using three fertilizers in different plots.

Fertilizer Yield
A 114133
B 615142
C 713|156

Test the hypothesis that there is no significance difference between three
fertilizers.
{The table value of F at 5% level of significance and at (2,9) d.f. = 4.26)
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(M) VA Y2 Ud HiZqf Aeiigan Qazel, Geis2el Aéld 2pivdl. A1) Helid) vial %@a (0W)
Ueldlof] vl dvil,
(o) fEud "2" i1 Udloll U 42l Uelldlall [E3d) 25 1, 16 2id -40 8, wileid s & (0¢)
HeRls = 3, [@QuzRl = 15 et py = - 86. B it y, ol [Baud) A,
48|
TR
(A) Qw5 Bl Usaisal 248 203414, M2 AIE] AR Melld) Ha MY AR Blogal veald] (05)
el 2Hoitd dvil.
(o) ol e A1gRI-RAcRer yrel uer AR yaidldll Bua weas oia A, (o€)
x 112131456789
f {1]6]12(25(30(20(9({5(2
U.R
(1) 2y3-dg Rigid 21a 2|3-13 Rigid 244l (05)
(o) oA A gnnaz Aldis Hie () 2[3-dg Rgia (i) 2)3-213 Rigid a (o€)
(iit) EMV Rigid 3¥el 9w e oiss] 821,
€2oll | RAeiIdell 4e
A | A, | A,
E; 0.3 =120 ] -80 | 100
E, 0.5 200 1 400 | -300
E; 0.2 260 | -260 | 600
eI
U.R '
(1) 209 (i) EMV (i) BEOL (iii) EPPI - | (0%)
(e1) oot ynaz AM2s 32 EVPI ol [Bad Ao, (o€)
€i2all e Adetidedi
Al | A | Ay
E, 44 | -10 | -100 0.20
E, 400 | 440 | 400 0.70
E; 650 | 720 | 760 0.10
3.3
(1) ol uloll civell vl (09)

(i) Yo ulRscuolt (ii) dscus uRkscyoll
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s Auleniell ye=e da ue s3a 10 alFailel Guig (i) Vio|53

63, 63, 60, 67, 68, 69, 70, 70, 71, 71. 241 :fac) uell “2pifeni 232 Gu1gf
66 ¥ 8" dd] ulscuaile udlaiw 2.

(9 A3l Hal 5% 2ure5aioll 5261 t ofl Shesdll Bua = 2.26)

Yl

t- [Qereei dott 216l 2418 2504, ) ,
ofld 40 IRl uell ““2pifeot] s1Las) 2pilel 3. M ulseuolie] udlziel 531,

Xp [25132130]32(24(14{32| -} - | -
Xp |24 134122:30|42|31(40|30(32]35

(15 aLMpAl Mol 5% 2A1sdlol] s21A t ofl Sies Bra = 2.131)

A -tRIRISe] il 2t d e A18 piend).

s uRliel 300 quid Goiaal, o1 Yol “IgRI-@dzel %6 8. “URl AellGioid 87

ufescuolic] udlairl 53,
YiRlell Gurell aiiggeil 2is | 1 [ 2 [ 3 T4 5] 6
gl 56 5715349 |44 (41 ]

(5 13120 al 5% 41¥sdliel] s 7 ofl Shesoll ya = 11.07)
AYY)

Asfy aoflsel 22 Qe yeuseldll d aedl.
[QRY rAehi sl viddlell uzilel seaiEll ofld 3ot Uise] Geulgo %Al B.

viidR | Guw (wdle yrel)

A 1 {4:3]3

B 615142

C |17]13]|5]6

“SAE viia?l g2 sl Aels dsiad ot Ad) uRseueio] ulaier 3.
(AL 1M (2, 9) 40 S%A18sci0l 5241231 F of) Siesoll Bua = 4.26)
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